Name Width| Depth| Heightj Visible

Fixed window 93 10| 134| x

Fixed window 91.4 10 134 x

Fixed window 91.4 10| 134 x

Fixed window 91.4 10| 134| x
+ Door 80| 19.5| 208.3| x
» Door 80| 19.5| 208.3] x
4 Door 80[ 19.5| 208.3] x
+ Door 80| 19.5| 208.3| x
» Door 80| 19.5| 208.3] x
w Wardrobe 100 60| 165.1 x
w Wardrobe 160 60| 165.1] x
w Wardrobe 160 60| 165.1] x
w Wardrobe 160 60| 165.1 x
5 Chair 40 41.9] 90.2[ «x
# Chair -2- 385 52 98 «x
™ Rectangular table| 175 75 80| x
@ Bedside table 40.1| 40.1 80| x
T Stool 40 40| 45.7] x
T Stool 40 40| 45.7| x
¥ Box 110l 100] 150 x
™ Rectangular table] 120 60 80| x
& Bedside table 40.1| 40.1| 80 x
¥ Box 44.4| 71.4] 147.9] x
¥ MARPOL 91.9] 63.9( 104.9] x
m= Workbench 150 68 80| x

Curtain 175.5 15| 205.5] «x
w Sink 118 68 106 x
- bike 97.1] 30.7 95.4| x
™= Workbench 130 80 80| x
w Wardrobe 120.5 40| 165.1] x
™4 Desk 125 70.5 74 x

Curtain 267 12| 220 x
& Chair 40, 419 90.2] x
A Chair 40| 41.9| 90.2| x
5 Chair 40 41.9] 90.2[ «x
& Chair 40, 419 90.2] x
w Wardrobe 120.5 40 165.1] x
5 Chair 40 41.9] 90.2[ «x
& Chair 40, 419 90.2] x




Name Width| Depth| Heightj Visible

J estintore 25| 16.6] 50.9] x
' etau 20.3| 31.2| 18.8] x
' etau 20.3| 31.2| 18.8| x
* etau 20.3|] 31.2[ 18.8] x
B boiteMetal 30.2| 30.2[ 50.3| x
B boiteMetal 30.2| 30.2| 50.3| «x
B boiteMetal 30.2| 30.2| 50.3| «x

scie 17.8| 46.8 04 x
m= Workbench 130 80 80[ x

scie 17.8| 46.8 0.4 x
' etau 20.3| 31.2| 18.8] x
' etau 20.3| 31.2| 18.8| x
J estintore 25| 16.6] 50.9] x
1 estintore 25| 16.6] 50.9] x
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